1. JloBemiTh, 110 3HAYCHHS BUpa3y 2° +5% € CKIaJeHUM YHCIIOM.

2. Yucna a, b, ¢ taki, mo a’+b®+c¢*—ab—ac—bc=0 . YoMy 10piBHIOE 3HAUCHHS
Bupasy a+b-2c?

3. Bigomo, mo a’+b*+c*=1, x*+y’+2*=1, ax+by+cz=1. JloBenirs, 1o a=Xx,
b=y, c=z.

4. JloBeniTh, 110 PIBHIHHS X' — X +% =0 KOpEHIB HEMaE.

5. Bigomo, 1m0 a®+b?+c¢*=30, a—b—c=4 . JloBexiTs, 1110 bc—ab—ac=-7 .

6. Bimomo, mo a®+b*+c® =26, ab—ac—bc=-11 . 3HalIITh 3HAYCHHS BHPA3y
a+b-c.

7. Po3knaniTe HAa MHOKHUKHM a° +b? +3c? +2ab+4ac+4bc .
8. PoskmaniTh Ha MHOXHHUKH BHUpa3 a° +8b” + ¢ —6ab—6bc +2ac .

JloBemiTh, o KoK a+b+c=0 , To a®+b®+c® =3abc



